CARLTON CRICKET CLUB 3rd Xl Vs Stenhousemuir 2nd Xl

j. ESCA Division 4

3
W

PLAYED AT: The Tryst DATE: 25th June, 2011

|STEEDMAN
|5 COMPAN

RESULT: Carlton won by 9 wickets

INNINGS OF: Stenhousemuir BOWLING
Nol| Batsman [[ How Out || Fielder Bowler [Rund| 6s]| 4s || Bowler Overs|(Mdng| Runs [|[Wkts|[ Nb || \
1 |fwilliamson, S [[caught [[Rittoo Gosain 7 1 [fwalker gl 2 24 1
2 |Ipirom [[caught [[Everett Ahmed 7 2 J|Ahmed 7.1 4 7 2
3 [lowens [[caught Fedenczuk Walker 12 2 3 |IR Macpherson 5 2 11 0
4 [[Moses [lLBW Gosain 12 2 4 [lGosain 0] s i E
5 ||Reid [[caught Walker Gosain 0 5 |Rittoo 10 1 19| 3
6 [[Reed [[Not Out 21 6 [|Whatley 5 1 9 1
7 ||Angus [[Bowled Rittoo 3 7
8 [[Halem [[caught Rittoo Rittoo 1 8 |l
| 9 |[Burgen [[LBW ( Whatley 7
[10][williamson, A [caught |[Srinivasan Rittoo 0
11[[Dyer | | 1
[[Extras [[(2b, 31b, 12w, 1nb) 18
[[roTAL [[(10 wickets, 46.1 Overs) 89
INNINGS OF: Carlton 3rd XI BOWLING
Nol| Batsman [[ How Out Fielder Bowler [Rund| 6s]| 4s ( Bowler Overs|(Mdns| Runs [|[Wkts|[ Nb || \
1 [[Guest [[Not Out 31 1 [[Angus 9 3 27 1
2 [[Everett [lLBW Angus 0 2 ||Burgen 4 1 0] o
3 |lSrinivasan Not Out 52 4 3 JHalem 3 O 23 ol
4 |[Macpherson DNB 4 |[pyer 3.3 of 16 oll
5 [[Ahmed DNB 5 [lwilliamson, A 2 0 10 0
6 |INewman DNB 6
7 |[Fedenczuk DNB 7
8 [[Whatley DNB 8
9 |lwalker DNB
10 [|Gosain DNB
11 [|Rittoo DNB
[[Extras (3b, 1lb, 3w, Onb ) 7
[[roTAL (1 wickets, 21.3 Overs) 90




